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[L0" To divide decimals by an infeger.

(SC-T can use part-whole model 7o divide

[T can use counters fo divide

T can use grouping and sharing
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Work out the di
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Fillin the missing numbers.
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Complete the calculation.

sa:| |-42:

How many different solutions can you find?
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The number in a box is the product of the two numbers below it.

Write the missing numbers.

22.5
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Mrs Forbes has saved £4,960

She shares the money between her 15 grandchildren.

How much do they each receive?

Modelling clay s sold in two different shops.
Shop A sells four pots of clay for £7.68
Shop B sells three pots of clay for £5.79
Which shop has the better deal?

Explain your answer.

A box of chocolates costs 4 times as much as a chocolate bar.

Together they cost £7.55

s
N/

How much does each item cost?
How much more does the box of chocolates cost?

£7.55




